FRRBRE
Pen Cylinders

FO" RAY® FMJ &5l FMJ Series

4% Features

® R4AiH @ Special housing and bushing enables
#mﬁﬁﬁ:ﬁi‘é‘ﬁ HHREABE, FEEEET self lubrication of piston rod.
#ailo @ High quality long service life.
OSmE; MAE: @ Cylinder mountings, available with
o RBHFASRASFEHE, B, mEw, a comprehensive range of
N [ E2-3i42: 1 accessories for rigid or flexible
,_.-‘;)1\'-“ 2 SEETAREETATL, HEE, mounting.

e hj“ ' ##& Specification

4 EU%E Model FMJ
ol = RALPIE
4 i Tube 1.D. (mm) 6 10 16
S ‘ ‘oressure ™
BEOERT M5 x 0.8
&t’: o ; Port size * 0.
) {E R 5 Al
Medium H AIr
=AERES a
Max operation pressure 7 kgf/em
5INE
- Normally 2.5 1.5
B/MEFAEH ;r;ible extended
, Min operation acti%g ?\jkﬂosrdn%uy ”0 s
HEZT 2 ressure d .
E#4T25% Table for standand stroke proseurs Normalh
EBN AN | RENE ?Dgoﬁajble acting 12 0.6
S Gee | T LB 1742 Stroke (mm) BT o
o6 15.30 45 60 Proof pressure 10 kgf/em
S ,30,45, AEARE
:fjjg% T P Ambient temperature -5T ~ +60C ( Fs#E No freezing )
b @i . :
acing 16 15,30,45,60,75,100,125,150 Lubrication AFE#aih Not required
A RERIRA
wEE 6 15,30,45.60 Sensor switch RCS RCM,RCS
E;thiglge 10 15,30,45,60,75,100,125,150 AR = = BM16
»16 15,30,45,60,75,100,125,150,175,200 STl G e BJ6 BJ10 BJ16

RCM i FAsR %% BM16, Senser switch band BM** only for RCM.

S ELRTEE R TB Ordering Code Z2 8 £ Mounting accessories
FMJ -11-16 M 45-B FA - FMJ - 16

HIgE Tube I.D. 1712 A%k UL AR
Model Stroke Model Tube 1.D.
FEZERIRK End cover type:
HEA R [iw: FCEE SRELRE
1. Bl M: Bi#EA Code Symbol Tube I.D.
2. & =H: TH#EA B m 101
1:Single Rod Magnet Code 016
2:Double Rod M: Magnet D 1016 REERIK
Blank: Without ’ Mounting type
1E&N A/ 1RiRFE Style: LB
%4 AL Bk @ﬁﬂ FA
Code Symbol Description
WHSF @@u:% =
111 BE: Double acting / Male thread
S| NEESMF Jﬂﬁj Y
113 ME: Single acting / Normally extended male thread
19 | B8 BN IF el [ ] 1
115 EE: Single acting / Normally returned male thread

RN F
2|1 :BEE Double rod / Male thread

217 g:%: HEATATIEINT
Double rod / Adjustable male thread




£ BRI R L

FONRAY N EMJ R 5 FM) Serios

£ & A / SMER~F Dimensions / Double acting ®10 ~ ®16

2-M5X0.8 GA _, NN
| / MM
. |
o I E= e
- -
| | a
5
OB NB NA F A
S+ {T#2 stroke H
Z+1T#2 stroke
5 ’ - - 8
B1 _.Mi
5% Code o
sETe 1D A B(B1(B2|C | C1|C2|D|F |GA|GB|H [H1| H2 MM NA | NB ND NN S Z
ube 1.D.
10 15 (12 | 11 7 14 |1 115 | 8.1 4 8 8 5 (28| 4 3.2 M4 x 0.7 125 | 9.5 8 %oz M8 x 1.0 46 74
16 15118 (14| 8 |20 [ 162 | 92 | 5 8 8 5 (28| 4 4 M5x0.8 | 125 | 9.5 10 %0 | M10x1.0 | 47 | 75

NB GA
cB 2-M5%0.8

FAT 520 26 2

U
o
=3
(2]
=
=}
Q
()
=
(7]

L ¢°
£ |
e o3
i ‘ | ‘ f
|
[
|
|
\
|
|
L Z
i SNDhe z
|

|
I 144 | I I a
< MM
co’ NA F
OS T T A
1B U S+1T#E stroke H
R Z+1T#8 stroke
) NN MM

(L 1)
=]
D

B1 H1

8k Code
SiE T 1D A|(B|B1|B2|C [CD|CX|C1|C2|D|F|GA[GB|H [H1|H2 MM NA | NB | ND"™ NN R({S|U|Z
ube 1.D.
10 15|12 |11| 7 [14|33 |32 (127|814 |8 | 8 | 18 |28 | 4 |3.2| M4x0.7 | 125 | 22.5 8 % | M8x1.0 | 5 |46 8 |82
16 15(18 14| 8 |20 5 |65(162|92|5 (8| 8 |23 |28 | 4 | 4 [ M5x0.8 | 125|275 | 10 % |M10x1.0| 8 (47| 10|85




FRIFBE

FONRAY FMJ %351 FM) Serios

# g8 / 5N R~F Dimensions / Double acting ®6 ~ 16

FMJ-6

¢C

2-M5x0.8 GA NN

4 2
+ - —— T3 °
| : <
\ Y |- a
T \ -
T_\
0s NB NA F A
S+1T#E stroke H
]
e E— | -
Z+17#2 stroke
FMJ-10 / FMJ-16
2-M5x%0.8 GA_ NN
‘ MM
\ N ;
! e IR e | B Si=aEE I
b4
-
‘ |
V4 o
-
B NB NA F A
S+4T#Z stroke H
Z+1T#2 stroke
MM
—\
I —T
— - - N
— L
\__/
B2
— -
B1 H1
- — et
8% Code h8
A B(B1/{B2({C | C1 |[C2|(D|(F|GA|H [H1| H2 MM NA [ NB| ND NN S | T | Z
A Tube I.D.
6 15 | 12 8 | 55| 14 9.2 64| 3|8 |145|28 | 4 | 24 M3x 0.5 16 7 6 %00 M6 x 1.0 49 | 3 | 77
10 15 [ 12 | 11 7 14 | 127 | 81 | 4 | 8 8 28 | 4 | 3.2 M4 x 0.7 125 | 9.5 8 %o M8 x 1.0 46 74
16 15 | 18 | 14 8 20 | 162 |92 | 5 | 8 8 28 | 4 4 M5x 0.8 125 | 95 10 %02 M10x1.0 | 47 75

E



£ R R R 5T
Pen Cylinders

FO"RAY® FMJ &35 FMJ Series

R ERIRAZEE Installation of sensor switch ®6 ~ ®16

Bt fEBARA Sensor switch: RCM
B BB k&= Sensor switch band: BM**

|

18]

[
ﬁﬁ
|
T
I
O

~

I

29

EifEBHRA Sensor switch: RCS

B EBARBAR % Sensor switch band: BJ** E %
oY
| a B
To—Eeg=—— % % il
|

8% Code
A B (o3 D E
A% Tube I.D.
6 18.1 241 6 12 22
10 20.1 26.1 6 12 22
16 23.4 32.4 6 12 22




ERIRER
Pen Cylinders

FO"RAY® FMJ &%l FMJ Series

EEHR | REER4 Mounting accessories / Double acting ®6 ~ ®16

P6

EER

‘ Cover surface lever

3 | T

.[/ﬁ/ ! —
_ > | - I

o S

T . | |

| -
’\ _
H S+ 1772 stroke
LX Z+17#2 stroke
2-L.C

®10, ©16

EEm
Cover surface lever

A
[ ‘ — ’ 1]
. | 5 e L 3
p}
J 42 = EAN e
| | - MM
T I T 1) E—
$ T T
Lz _lx oy
I 1
H S+ {772 stroke
LX Z7+17%2 stroke
2-L.C
|
T | T
T
3% Code
A H LB | LC | LH LT LX LY LZ MM S X Y V4
M1E Tube L.D.

6 15 28 15 4.5 9 1.6 24 16.5 32 M3 x 0.5 49 5 7 77
10 15 28 15 4.5 9 1.6 24 16.5 32 M4 x 0.7 46 5 7 74
16 15 28 23 55 14 2.3 33 25 42 M5 x 0.8 47 6 9 75




£ R R R 5T
Pen Cylinders

FO"RAY® FMJ &35 FMJ Series

BEEA / REEF M Mounting accessories / Double acting ®6 ~ ®16

EHR
Cover surface lever A

S —t¥ .
®6 o] Qf = ¢ < ——— -Si-
k\/ N b(\ | | —
FX 2-FC FT |l
Fz H S+ 1772 stroke
Z+1T#2 stroke
®10 ~ ¢16 HEE
Cover surface lever A
— [ Q‘%‘(]\ \
gl 2 e s o T | SR N 521
MM / T ' 1
2-FC FT " B
H S+47#2 stroke
B ——z+ﬁ-$§ stroke ~

3 Code
A FB | FC | FT | FX | FY | FZ H MM S z
M1E Tube I.D.
6 15 13 4.5 1.6 24 14 32 28 M3 x 0.5 49 77
10 15 13 4.5 1.6 24 14 32 28 M4 x 0.7 46 74
16 15 19 55 2.3 33 20 42 28 M5 x 0.8 47 75
22vm vk I
P =}
S+4T#E stroke u 4TC o ﬂ
( SRS | 500 + F8H ) Clke) =R
1+Pin (Extra purchase) 3_ ER
@il
I I T 'l:P'—u T Bt 7}
@*777% /Taccessory
[ J |

Z+178 stroke R, ™ ™

‘ Lt

ol *

g < = t s
: ‘ /mssory
; i} i ‘
l = TK
| =
| '—J:
L

L | |

b
(L]

TU3?

X
T™wW v
8% Code 010
5 e 1 A | H MM R|S |TC TD TH|TK|{TN | TT |TU | TV |TW | TX | TY | TZ | U Z |2z
ube I.D.
10 15 28 M4 x 0.7 5 46 | 4.5 3.3 ;% 29 18 | 3.1 2 9 40 22 32 12 8 8 8 93
16 15 28 M5 x 0.8 8 47 | 45 3t 35 20 | 64 | 23 | 14 48 28 38 16 10 10 10 99




FONRAY”

£ R R L
Pen Cylinders

FMJ &%l FMJ Series

BEH5| N2/ 5pEI R~ Dimensions / Normally extended ®6 ~ ®16

GA
C 13 — ;
| |
| |
6
1B ‘ F [T NA [
NN
GA M5x0.8
$C
3N\ A
_ |
10, 16 0
MM 2
o
_ 0B _ . A | E _F, na | NB
H+1T#2 stroke S+177%2 stroke
Z+2 x 1T stroke
8 Code
D) A B Cc D F GA H MM NA | NB ND NN T
6 15 12 14 3 8 145 28 M3 x 0.5 16 3 6 %ors M6 x 1.0 3
10 15 12 14 4 8 8 28 M4 x 0.7 125 515} B % M8x 1.0 =
16 15 18 20 5 8 8 28 M5 x 0.8 125 | 55 10 %00 M10x 1.0 -
P Stﬁ% Code %S %Z
AR 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 |101~125[126~150| 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 101~125|126~150
6 465 | 555 | 59.5 | 735 | _ ~ | 745 | 835 | 875 | 1015 | ~ _ ~
(51.5) | (60.5) | (64.5) | (78.5) 79.5) | (88.5) | (92.5) | (106.5)
10 48.5 56 68 80 - - - - 76.5 84 96 108 - - - -
16 48.5 57 69 81 87 111 129 141 76.5 85 97 109 115 139 157 169
* (S) (Z) IERNBEFEMRZ T, % (S),(Z) () indicate the size of that with magnet ring.
LA Mounting accessories o
oc — os
il
: i
¢ E ‘ ‘
(0]3) Lz S+ 1742 stroke
Z+2 X474 stroke
F_| GA
NN LTy M5x0.8
MM a | ¢c
N\ 9 =T
C > Er—r—) - SRR T _%
10, ©16 ; 5[ B & —-
2-¢LC / A lX! Y. NA NB ‘ B |
LX H+1T#8 stroke S+47%E stroke
Lz Z+2 x 1742 stroke
i Tut:i‘?t)de A|B|C | D|F|GA|H|LBILC|LH|LT LX| LY |LZ MM NA | NB NN T|X|Y
6 15 [ 12 | 14 3 8 [145 |28 | 15 |45 | 9 16 | 24 | 16,5 | 32 M3 x 0.5 16 3 M6 x 1.0 3 5 7
10 15 (12 | 14| 4 8 8 28 | 15 | 45| 9 16 | 24 | 16.5 | 32 M4 x 0.7 125 | 65 | M8x1.0 - 5 7
16 15 | 18 | 20 5 8 8 28 | 23 | 55| 14 | 23 | 33 25 42 M5 x 0.8 125 | 55 | M10x1.0 | - 6 9
P 5 2% Code| %S %z
I 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 |101~125|126~150| 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 [101~125|126~150
6 465 | 555 | 595 | 735 | ~ ~ | 745 | 835 | 875 | 1015 | ~ ~ _
(51.5) | (60.5) | (64.5) | (78.5) (79.5) | (88.5) | (92.5) | (106.5)
10 48.5 56 68 80 - - - - 76.5 84 96 108 - - - -
16 48.5 57 69 81 87 111 129 141 76.5 85 97 109 115 139 157 169
# (S) (Z) FEMHNBEA#MRZ T, % (S),(Z) () indicate the size of that with magnet ring.

E



ERIRB T
Pen Cylinders

FO"RAV® FMJ &3l FMJ Series

BEB)5|NE / ZER 4 Mounting accessories / Normally extended ®6 ~ ®16

EE| FT GA
oy e EL 1A o
.

—
@ qd: c=—="T——¢
®6 -
0B 2FC | A F Il NA L~ 8
FX H+1T#Z stroke S+17%2 stroke
Fz Z+2 x {172 stroke
FT GA
NN ﬁﬁ M5%0.8
[a) /
MM 3l ¢C
[
q)10, q>16 T A@En —-—‘-—LIE-—»—:::
1
2-FC A F_|_NA NB 0B
| I 1
FX H+ 1772 stroke S+17%& stroke
Fz Z+2 X 1T#2 stroke
3% Code
T A|lB|C D F |[FB|FC | FT |FX|FY|FZ| GA | H MM NA | NB NN T|X|[Y
6 15 12 14 3 8 11 45 | 1.6 | 24 14 32 [ 145 | 28 M3 x 0.5 16 3 M6 x 1.0 3 5 7
10 15 12 14 4 8 13 [ 45 | 1.6 | 24 14 | 32 8 28 M4 x 0.7 125 | 5.5 M8 x 1.0 - 5 7
16 15 18 | 20 5 8 19 | 55| 23| 33 | 20 | 42 8 28 M5x0.8 125 | 55 M10x1.0 - 6 9
ﬁﬁ-’s, 5% Code %S %Z
1
H7E I.D. = 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 |101~125(126~150| 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 | 101~125 | 126~150
6 465 | 555 | 595 | 735 | ~ ~ | 745 | 835 | 875 | 1015 | ~ ~ ~
(51.5) | (60.5) | (64.5) | (78.5) (79.5) | (88.5) | (92.5) | (106.5)
10 48.5 56 68 80 - - - - 76.5 84 96 108 - - - - v
16 48.5 57 69 81 87 111 129 141 76.5 85 97 109 115 139 157 169 g %
¥ (S) (zZ) FMRBEE#HMERZ T, % (S),(Z) () indicate the size of that with magnet ring. Oﬂ
-
- Z+2 X 1718 s’tro/k_eI=l R g_ E
T H+47%8 stroke S+1T#E stroke U cz ) ﬁI
=
GA NB ¢ CD H9 CX:o? (7]
NN ¢cd d9
M5X0.8
(S8 1 485 + $EH) Tan | S sc
I+Pin (Extra purchase) ] s i%f
S e I A e ) (L ‘
! l | accessory j”
MM @ ‘ — L
=] \\; i T
A Z _F,Na m:] ‘ F| T ERE
: 4-TC T accessory
! /
I i . = ‘
TY \_#
™w v
I
22+2 X177 stroke
¥ Code CcDh
A|B|C CX|CZ|D|F |GA|H MM NA | NB ND NN R|(TC|TH|TV|[TW|TX|TY| U
P3#% Tube 1.D. (cd)
10 15112143332 |12 | 4 | 8 | 8 |28 | M4x0.7 | 125 | 18,5 8 %o M8x10 [ 5 |45|29 |40 (22|32 |12 | 8
16 15|18 (20| 5 | 65|18 | 5 | 8 | 8 |28 | M5x0.8 [ 125|235 | 10 % | M10x1.0 | 8 |55| 35| 48 | 28 | 38 | 16 | 10
i}hﬁgﬁ.Code s z 77
R Sy
W@I.D.’Dke 5~15)16~30 [ 31~45 ( 46~60  61~75| 76~100 | 101~125 | 126~150 | 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 | 101~125 [ 126~150 | 5~15 | 16~30 | 31~45 | 46~60 [ 61~75 | 76~100 | 101~125 [ 126~150
10 485| 56 | 68 | 80 - - - - 845( 92 [ 104 | 116 | - - - - 955|103 | 115 | 127 | - - - -
16 485| 57 | 69 | 81 87 | 111 129 141 |86.5| 95 [ 107 | 119 | 125 | 149 167 179 |1005( 109 | 121 | 133 | 139 | 163 181 193

| 40 Y



FONRAY”

FRRBRE
Pen Cylinders

FMJ &%l FMJ Series

BB A / MR~ Dimensions / Normally returned ®6 ~ ®16

2
Al Z
MM s ®
M o e || A
N\
Ny :
N\ $C NN
0B A F NA NB
H S+ 1748 stroke
Z+ 1T#2 stroke
M5 X 0.8
3% Code W RS
h A[({B|{C|(D|F |GB|H MM NA | NB ND NN In—line
M#E Tube 1.D.
6 15| 8 9 3 8 - 28 | M3x0.5 3 7 6 %o M6 x 1.0
10 15112 (14 | 4 8 5 28 | M4x0.7 [ 55| 95 8 %o M8x 1.0
16 15118 (20| 5 8 5 28 | M5x0.8 | 55| 9.5 | 10 %0 | M10x 1.0
P 5 4% Codef %S %Z
S 1.D. Rt 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 |101~125|126~150| 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 (101~125|126~150
6 34.5 43.5 47.5 61.5 62.5 715 75.5 89.5
(39.5) | (48.5) | (52.5) | 66.5) | ~ - - - | (675) | (765) | (80.5) | (94.5) | ~ - - -
10 45.5 53 65 77 - - - - 73:5 81 93 105 - - - -
16 455 54 66 78 84 108 126 138 73.5 82 94 106 112 136 154 166
% (8) (z) BRANBEEHMERZT, % (S),(Z) () indicate the size of that with magnet ring.
A4 Mounting accessories A Fol M5 0.8 GB
-
% - I
s
2-¢LC NA NB
LX H S+4T7%E stroke
Lz Z+ 1772 stroke
M5x0.8
/S EHAEEREE
_ In-line
X% Code
8 Tobe A|B|C D F |GB|{ H ([LB|LC |[LH|LT |LX| LY | LZ MM NA | NB NN XY
6 15 8 9 3 8 - 28 13 | 45 9 16 | 24 | 165 | 32 M3 x 0.5 3 7 M6 x 1.0 5 7
10 15 12 14 4 8 5 28 15 | 45 9 16 | 24 | 165 | 32 M4 x 0.7 515 9.5 M8 x 1.0 5 7
16 15 18 20 5 8 5 28 [ 23 | 55 | 14 | 23| 33 25 42 M5 x 0.8 55 9.5 M10x 1.0 6 9
P 5 4% Codef %S %Z
S 1.D. Rt 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 (101~125|126~150 | 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 | 101~125 | 126~150
6 34.5 43.5 47.5 61.5 62.5 715 75.5 89.5
(39.5) | (485) | (52.5) | (66.5) | ~ - - ~ | (675) | (76.5) | (80.5) | (94.5) | ~ - - -
10 45.5 53 65 77 - - - - 73.5 81 93 105 - - - -
16 45.5 54 66 78 84 108 126 138 73.5 82 94 106 112 136 154 166

#(8) (Z) BMKBREE#MERZ Y,

| 41 Y

% (S),(Z) () indicate the size of that with magnet ring.



ERRBEL
Pen Cylinders

FO"RAV® FMJ &35l FMJ Series

BB A / 4R Mounting accessories / Normally returned ®6 ~ ®16

MM

@
©

]
]
D
|
JL

FY
\
|
T
$C

‘ NN /
2-¢FC FT_ LI 0B

FZ H S+1T#2 stroke

Z+17#2 stroke

In-line

M5x0.8

8% Code

el A B C D F |[GB| H |FB|FC | FT | FX | FY | FZ M NA | NB NN X Y
6 15 8 9 3 8 - 28 11 45 | 1.6 24 14 32 M3 x 0.5 3 7 M6 x 1.0 5 7
10 15 12 14 4 8 5 28 13 | 45 | 1.6 24 14 32 M4 x 0.7 515 9.5 M8 x 1.0 5 7
16 15 18 20 5 8 5 28 19 55| 23 33 20 42 M5 x 0.8 55 9.5 M10x 1.0 6 9
ﬁf@s, 3k Codel %S %Z
.
148 .. =5 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 |101~125 [ 126~150 | 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 | 101~125 | 126~150
6 345 | 435 | 475 | 615 | ~ ~ | e25 | 715 | 755 | 895 | ~ ~ ~
(39.5) | (48.5) | (52.5) | (66.5) 67.5) | (76.5) | (80.5) | (94.5)
10 45.5 53 65 77 - - - - 7515 81 93 105 - - - -
16 45.5 54 66 78 84 108 126 138 735 82 94 106 112 136 154 166 )
g %
Z+1T4Z stroke R (9}
H S+1T%E stroke 9] g
NB cZ Q_E
(S | + ) w L es oxc o EL
I+Pin (Extra purchase) = M5x0.8
MM _g z $C
© —
/. W ——— | B8 ?
g a {Sﬁf-ﬂ'k K laccessory m ,rdﬁ wh
X 50
—= ! 1 1\ ‘
&/r ¢ CD H9 | [ \ ] .
A L F NA (¢ od d9) | | I
| 4-1C | T accessory
i ‘ ;
T T 1 T : T . . I
IS R
TW ‘ TV
ZZ+1T7%2 stroke
8% Code CcDh
A|(B|C CX|(CZ|D | F |GB|H MM NA | NB ND NN R|TC|TH|TV|[TW|TX|TY| U
P& Tube 1.D. (cd)
10 151214 |33 |32 (12| 4 | 8 [ 18|28 | M4x0.7 | 5.5 | 225 8 %02 M8 x 1.0 5|145(29 (40|22 (32|12 | 8
16 15|18 (20| 5 | 65|18 | 5 | 8 |23 |28 | M5x0.8 | 55 [ 275 | 10 % | M10x1.0 | 8 |55 35| 48 | 28 | 38 | 16 | 10
> 5% Code S Z 7z
7&*8”0/(
75 1.0 © |5~15|16~30 | 31~45 | 46~60 | 61~75 [ 76~100 | 101~125|126~150  5~15 | 16~30 | 31~45 [ 46~60 | 61~75 | 76~100 [101~125 | 126~150 | 5~15 | 16~30 | 31~45 | 46~60 | 61~75 | 76~100 [ 101~125|126~150
10 455 53 65 77 - - - - 815 89 | 101 | 113 - - - - 925|100 | 112 | 124 - - - -
16 455| 54 66 78 84 108 126 138 |[83.5| 92 | 104 | 116 | 122 | 146 164 176 |[97.5| 106 | 118 | 130 | 136 | 160 178 190

| 42



FONRAY”

ERIRERTL
Pen Cylinders
FMJ &5l FMJ Series

Y $%#88 / Y Connector

¥EHERLE Accessories ©10 ~ ©16

| $%88 / | Connector

ND H10 ND
MM MM A
N N -
i o e | B | o
e =
A1 N8 At G
012 012
5% Code H10 3% Code H10
A1 | L1 MM HD NX [ R1 | U1 A1 | L1 MM HD NX [ R1 | U1
A7Z Tube 1.D. A4Z Tube 1.D.
10 8 21 M4 x 0.7 33, [ 32| 8 10 10 8 21 M4 x 0.7 3.3 | 341 8 9
16 11 | 21 M5 x 0.8 5% |65 | 12 | 10 16 8 | 25 | M5x0.8 5% | 64 | 12 | 14
ETEELHE Ordering Code
) P: &0
1 54 | With split pin
Pin
7 iGN
&
ﬁﬁi"?‘g Y:Y & | EEE A
= D: EZ D &EH
Type
Y: For Y & | connector
ﬁﬁﬁ / Pin D: For end cover D type
e 1S e 1%
c L B i c c L B i c
A hd h ¢
A A

BAR | B & Y BY$E88 For | & Y connector

B AR EZ D & For end cover D type

%% Code = 5% Code =
Al B]|C p* |6 |1 | B AlB|lc| p® |6 |1 | A&
794% Tube 1.D. Split pin P9#& Tube 1.D. Split pin
10 162 | 122 | 1.5 | 8.3 1% 25 | 05 E-2.5 10 152 [ 122 | 1 3.3 5o 25 | 05 E-2.5
16 162 | 122 | 15 5 5% 4 | 07 E-4 16 227|183 | 1.5 5 2% 4 | 07 E-4

| 43




